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1. Solve	the	following	equations.	

(a) Solve the equation (𝑥 − 1)! = 2𝑥	

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Answer: 𝑥 = __________or__________ 
 

 
(b) "

#$%
= 2 +𝑚 

 

 

 

 

 

 

 

 

 

 

 

Answer: 𝑚 = __________or__________ 

Topics covered: 
• Chapter 2: Quadra4c Equa4ons & Graphs 
• Chapter 3 Indices & Standard Form 
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2. A photograph is to be placed in a photo frame of dimensions 20 cm  by 16 cm with a 

border of uniform width 𝑥	𝑐𝑚. The area of the border not covered by the photograph 
is 128 𝑐𝑚!. 
 
(a) Write down an expression, in terms of 𝑥, for the length of the photograph.  

 
 
 
 
 

Answer: ______________cm 
 

(b) Form an equation in 𝑥 and show that it reduces to 𝑥! − 18𝑥 + 32 = 0. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(c) Solve the equation 𝑥! − 18𝑥 + 32 = 0 and hence, find the perimeter of the 
photograph. 

 
 
 
 
 
 
 
 
 
 
 
 

Answer: _____________cm 
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3. The diagram shows the graph of 𝑦 = 2𝑥! + 6𝑥 − 8	where it cuts the 𝑥-axis at 𝑃 and 𝑄, 

and the 𝑦-axis at 𝑅. 
 
 
 
 
 
 
 
 
 

(a) Find the coordinates of 𝑅. 
 
 
 
 

Answer: 𝑅 = (_________,_________) 
 

(b) The point 𝐴(𝑥, 12) lies on the curve. What are the possible values of 𝑥? 
 
 
 
 
 
 

Answer: 𝑥 = _________or__________ 
 

(c) Find the minimum point of the graph. 
 
 
 
 
 
 
 
 

Answer: Min point = (_________,_________) 
 

4. Write 0.000715 in standard form. 
 
 
 
 
 

Answer: ________________ 

𝑥 

𝑦 

𝑃 

𝑅 

𝑄 𝑂 
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5. Simplify the following equations, giving your answer in positive index notation. 

 
(a) (	!&

!"'#

%&$'!%
	)$! 

 

 

 

 

 

 

Answer:  ______________ 

(b) (2𝑎)$! × (	64	)
"
& 

 

 

 

 

 

 

 

Answer:  ______________ 

6. Solve 3!($) × 81( = 1 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Answer:  𝑝 =___________ 


